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i | (160 71 & IR A)

"The most significany ,chievement of modern law in India is the
constitutionalization of .pvironmental problems by the Supreme Court.”

Discuss this statement wii}, the help of relevant case laws.
(Answer in 150 words) 10

Qz/ ‘“w@ &t &1 F far w3 oft frw 0O 71 fuwR wdT w9 @ ot udig
Tl = Ivered R, fog 3 wefiyert orelte 7l € 1 Rt i |
(150 wt & et Afor)

"Right of movement and residence throughout the territory of India are freely

available to the Indian citizeng, but these rights are not absolute.,” Comment,
(Answer in 150 words} 10

: mmﬁ,mﬁm%ﬁﬁrﬁmwﬁm-mmmmﬁgwaﬁﬁmzﬁm
% yRafdd %91 § ? (150 w=di # 3w &)

To what extent, in your opinion, has the decentralisation of power in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

Q4 TT 8 oufd % &9 & yra F sv-agaly 6 yfim £ fdwwn Hifte )
{150 w2 # I &)

Discuss the role of the Vice-President of India as the Chairman of the
jya Sabha, (Answer in 150 words)

Qs./ g frog o s & wifvfies fem & d3ufs fem § svimo 9 am § wd
¥C 36 yftm it fmem i | (150 w=51 § s G
Discuss the role of the National Commission for Backward Classes in the wake

of its transformation from a statutory body to a constitutional bedy. |
(Answer in 150 words) 10

16

10

Qe/ Tfa-ufes da B GdiTwal % 96 B T FA 5 g qeER R el 3 F o
Had g @ smagma & | e Hifig ) (150 weel § sw i) .

The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss,
(Answer in 150 words) 10
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The Rights of Persons with Disabilities Act, 201¢ femains only a legal
document withoyt intense pennitisation of governmg,, functionaries ?:d

citizens regarding disability, Comment, (Answer in 15¢ words) In

Q8. Y\ M 3w Ry K mean § T e FEE § g,
) TF Xnfaafie wem
g W st dtd ot € | oo ifig | (150 Y31 & 37 i) +
Reforming the government delivery system 'fhm“Eh the Direct Benefit
Transfer Scheme is a progressive step, but it has its Lritationg too. Comment,

{Answer in 150 words) 10

‘ Wﬁﬁwmmﬁa%t’ﬁaﬁm*m‘éﬁﬁ!ﬁﬁw '
_ #F Jdum gav
i@ B yfir R i $ifg ) (150 = § IR Dy
‘India is an age-old friend of Sri Lanka.’ Discuss India’s Tole |
‘ : : . ¢in th isi
in Sri Lanka in the light of the preceding statement, (Answer i 1;‘;& :3:;3‘;“5“

Q10. A% faun § 0 fam® (BIMSTEC) 9% (SAARC) 9 W& U GO 9
22w A ¥ g T gt afi srmmand W W e ¥ T o 2
W TR fR A S v &) s ge # 2 (150 T4 T afg
Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the gimilarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation 7

(Answer in 150 words) JO

i0

QA. i wiafifes arfufem, 1951 % srmia dae I 4 fofe & weddi & m
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. uifa yeareh & frafee = o 9ifte fen o1 oo 7@ Polr % feg difde o

$I F-H1 ITN 39 R 2 faftrdt w1 wd G | (250wl e difor)
1 Piscuss the procedures to decide the disputes arising out of the election of a
] Member of the Parliament or State Legislature under The Representation of

the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the

B i 2 T
.E [

aggrieved party against the decision ? Refer to the case Jaws.
. (Answer in 250 words) 1§
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. islative powers by the
_ . N ercise of the legisla
. Discuss the essential gongitions for eXF¥ | . of ordinances by the

Governor. Discuss the [egality of re-promu :
Governor without placing them before the Legislature. (Answer in 250 words)

Wﬁwwﬁ*mw%wﬁt,m < T

qu § 17 foweh BT | (950 wedi # T o)

*While the national politica] parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

ymmm%m%%@ﬁmmmwmma
(250 wrea} & IR AfW)

Critically examine the procedures through which the Presidents of India and
ance are elected. (Answer in 250 words)

Q15 aTeE ATEREREE % ¢ F e 1, A ¥ Frates smm 6 e @ &
Hifsrg 1 (250 Wi § T i)
Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

| e AEeT & shfes W@ B e ¥ dfra wn ol what ) e % fon

yﬁﬁﬁ%ﬁmﬁ%wﬁmﬁm%uaﬁﬁﬁrm ;
(250 7=} B I &)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the

society. Discuss, (Answer in 250 words) ‘

Q17 = s 7a wa & wewa § 6 BT g e S W Tl i Rem s
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(250 weet # SR ity

e with the view that increasing dependence on donor agencies for
g the importance of community participation in the
9 Justify your answer. (Answer in 250 words)

Do you agre
development reduce
development process

4
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The Right of Children to Free and Compulsory Education Act, 2009 remains
inadequate in promoting incentive-based systemd for children’s education

‘Fﬂ'thout generatmg AWwAareness about the importﬁﬂce ofBChoohng. Aﬂﬂ]}'ﬂe.
{Answer in 250 words) I5

Q .mUz(m,ma,ﬁgmmmaﬂtﬁﬁmmaﬂ)mﬁm
Tt & wrg ) Rk 51 feg TR saiaka Fo1 ? (250 79 § 3 dfiw)
How will I2U2 (India, Israel, UAE and USA) gTouping transform India's
position in global politics ? (Answer in 250 words)

020/ ‘= Sl o £ wew 2 ¢ e % w1, fifim gy o @
Serarg Thad 1 fem § s <t wgadt Ay w1 @l vk B
(250 et 3 I i)
‘Clean energy is the order of the day.’ Describe briefly India’s changing policy
towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words) 15

15
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